g

]|
ok

o
m ]

_x._ﬁ

70
I

LICH.

I.

=

S

1.4305.

Bl AXY.
h11 O|LHo4oF

—

A
—

%=

ks

EN= IR

EMH O
AR Y M3
AHQIBA

THEL:
= =.
ANZE

AE]

3/MIE olo|X]|

MO
o

=25

or

or
Hia

I

1/2

www.kipp.com - info@kipp.com

© HEINRICH KIPP WERK GmbH & Co. KG



[ ]
— —_ ~ = =
St g, 28 = 22| A AR, S5, HFMHO| U= LT
== g9
TEWHS 2 xHE S B C D D1 D2 H L L1 R T
(DIN 912)
K2225.01001 AR 1.0503 9 M3x10 M3 10 28 12 14,5 8 - 4
K2225.01201 AES 1.0503 11 M4x12 M3 12 30 13 15 8 31,8 4
K2225.01401 AE 1.0503 11 M04X14 M3 14 32 14 15 9 339 4
K2225.01501 AR 1.0503 13 M5x16 M4 15 36 15 19,5 12 394 55
K2225.01601 AES 1.0503 13 M5x16 M4 16 38 16 20 13 394 55
K2225.01801 AE 1.0503 13 M5x16 M4 18 40 17 21 12,5 422 55
K2225.02001 AEl 1.0503 15 M06X16 M4 20 42 18 21,5 14 46,4 55
K2225.02201 AES 1.0503 15 MO06X16 M4 22 46 20 22,5 12 481 55
K2225.02501 AEl 1.0503 15 MO06X16 M4 25 48 21 23 125 508 55
K2225.02801 AE 1.0503 15 MO06X16 M5 28 54 225 29 18,5 - 7
K2225.03001 AE! 1.0503 15 M6x18 M5 30 56 24 28,5 18 58,6 7
K2225.03201 AEl 1.0503 15 M6x18 M5 32 58 25 29 18 586 7
K2225.03501 AEl 1.0503 15 M6x18 M5 35 60 26 30 20 61,6 7
K2225.03801 AE! 1.0503 15 M6x18 M5 38 66 27 37 27 - 7
K2225.04001 AEl 1.0503 15 M6x18 M5 40 66 27 37 27 - 7
K2225.04501 AEl 1.0503 19 M8x25 M6 45 76 31 41,5 28 794 85
K2225.05001 AE 1.0503 19 M8x25 M6 50 82 345 435 29 84,2 85
K2225.01002 AHQIPA AR 1.4305 9 M3x10 M3 10 28 12 14,5 8 - 4
K2225.01202 AHE[QlE|A AE 1.4305 11 M4x12 M3 12 30 13 15 8 31,8 4
K2225.01402 AHQIBA AR 1.4305 11 M04X14 M3 14 32 14 15 9 33,9 4
K2225.01502 AE|QlEA AR 1.4305 13 M5x16 M4 15 36 15 19,5 12 394 55
K2225.01602 AEQIE|A AE 1.4305 13 M5x16 M4 16 38 16 20 13 394 55
K2225.01802 AHQIBA AR 1.4305 13 M5x16 M4 18 40 17 21 125 422 55
K2225.02002 AHQIPA AE 1.4305 15 MO06X16 M4 20 42 18 21,5 14 46,4 55
K2225.02202 AHQIBA AR 1.4305 15 MO06X16 M4 22 46 20 22,5 12 481 55
K2225.02502 AHQIBA AR 1.4305 15 MO06X16 M4 25 48 21 23 125 50,8 55
K2225.02802 AHQlEA AE 1.4305 15 MO06X16 M5 28 54 225 29 18,5 - 7
K2225.03002 AE|ClIEA AE 1.4305 15 M6x18 M5 30 56 24 28,5 18 58,6 7
K2225.03202 AHQIBA AR 1.4305 15 M6x18 M5 32 58 25 29 18 58,6 7
K2225.03502 AE|QlEA A 1.4305 15 M6x18 M5 35 60 26 30 20 616 7
K2225.03802 AE|ClIEA AE] 1.4305 15 M6x18 M5 38 66 27 37 27 - 7
K2225.04002 AHQIBA AR 1.4305 15 M6x18 M5 40 66 27 37 27 - 7
K2225.04502 AE|QlEA A 1.4305 19 M8x25 M6 45 76 @ 31 415 28 794 85
K2225.05002 AE|ClEA AE] 1.4305 19 M8x25 M6 50 82 345 435 29 84,2 85
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



